

County Distribution Detail Report through 06/29/2018

Aur	ora
-----	-----

Autora									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,266	1,830	3	3,099	\$3,873.75	\$92.63	\$3,781.12	0.70	\$2,646.78
							Entity Total	:	\$2,646.78
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,646.78
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	4,340	11,348	204	15,892	\$19,865.00	\$417.53	\$19,447.47	0.70	\$13,613.23
							Entity Total	:	\$13,613.23
							Adjustment	:	\$0.00
							Total Amou	nt:	\$13,613.23
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	938	1,078	5	2,021	\$2,526.25	\$58.20	\$2,468.05	0.70	\$1,727.64
							Entity Total	:	\$1,727.64
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,727.64
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	2,255	3,847	11	6,113	\$7,641.25	\$154.84	\$7,486.41	0.70	\$5,240.49
							Entity Total	:	\$5,240.49
							Adjustment	:	\$0.00

Total Amount:

\$5,240.49

Brookings

3									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	10,845	20,004	230	31,079	\$38,848.75	\$826.94	\$38,021.81	0.70	\$26,615.27
							Entity Total	l:	\$26,615.27
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$26,615.27
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	10,822	25,714	333	36,869	\$46,086.25	\$966.17	\$45,120.08	0.70	\$31,584.06
							Entity Total	l:	\$31,584.06
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$31,584.06
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	2,708	3,586	7	6,301	\$7,876.25	\$161.22	\$7,715.03	0.70	\$5,400.52
							Entity Total	l:	\$5,400.52
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$5,400.52
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	613	414	2	1,029	\$1,286.25	\$26.06	\$1,260.19	0.70	\$882.13
							Entity Total	l:	\$882.13
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$882.13
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	2,760	6,172	55	8,987	\$11,233.75	\$244.38	\$10,989.37	0.70	\$7,692.56
							Entity Total	l:	\$7,692.56
							Adjustmen	t:	\$0.00

Campbell

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	790	1,406	7	2,203	\$2,753.75	\$55.11	\$2,698.64	0.70	\$1,889.05
							Entity Total	:	\$1,889.05
							Adjustment	::	\$0.00
							Total Amou	ınt:	\$1,889.05
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	2,998	5,346	14	8,358	\$10,447.50	\$214.60	\$10,232.90	0.70	\$7,163.03
							Entity Total	:	\$7,163.03
							Adjustment	::	\$0.00
							Total Amou	ınt:	\$7,163.03
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	36	2,221	0	2,257	\$2,821.25	\$59.30	\$2,761.95	0.70	\$1,933.37
							Entity Total	:	\$1,933.37
							Adjustment	::	\$0.00
							Total Amou	ınt:	\$1,933.37
City of North Sioux	City, Un								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,183	2,498	271	3,952	\$4,940.00	\$113.32	\$4,826.68	0.70	\$3,378.68
							Entity Total	:	\$3,378.68
							Adjustment	::	\$0.00
							Total Amou	ınt:	\$3,378.68
City of Sioux Falls, I	Lincoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	5,117	21,477	1,234	27,828	\$34,785.00	\$762.78	\$34,022.22	0.70	\$23,815.55
							Entity Total	:	\$23,815.55

Adjustment:	\$0.00
Total Amount:	\$23,815.55

C	la	r	k
U	ıa	ı	n

Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,505	2,469	10	3,984	\$4,980.00	\$104.64	\$4,875.36	0.70	\$3,412.75
							Entity Total	:	\$3,412.75
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,412.75
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,854	7,170	116	9,140	\$11,425.00	\$244.66	\$11,180.34	0.70	\$7,826.24
							Entity Total	:	\$7,826.24
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,826.24
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	8,175	18,521	516	27,212	\$34,015.00	\$722.44	\$33,292.56	0.70	\$23,304.79
							Entity Total	:	\$23,304.79
							Adjustment	Adjustment: \$0.00	
							Total Amou	nt:	\$23,304.79
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,372	571	5	1,948	\$2,435.00	\$50.07	\$2,384.93	0.70	\$1,669.45
							Entity Total	:	\$1,669.45
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,669.45
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	3,813	5,230	30	9,073	\$11,341.25	\$250.09	\$11,091.16	0.70	\$7,763.81

Entity Total:	\$7,763.81
Adjustment:	\$0.00
Total Amount:	\$7,763.81

Percent

D -	: -	
IJЯ	vis	เกท

Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	5,676	13,457	233	19,366	\$24,207.50	\$498.98	\$23,708.52	0.70	\$16,595.96
							Entity Total:		\$16,595.96
							Adjustment:		\$0.00
							Total Amour	nt:	\$16,595.96
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	2,400	3,500	7	5,907	\$7,383.75	\$150.14	\$7,233.61	0.70	\$5,063.53
							Entity Total:		\$5,063.53
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,063.53
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	2,000	3,001	95	5,096	\$6,370.00	\$138.69	\$6,231.31	0.70	\$4,361.92
							Entity Total:		\$4,361.92
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,361.92
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,404	2,108	5	3,517	\$4,396.25	\$89.60	\$4,306.65	0.70	\$3,014.66
							Entity Total:		\$3,014.66
							Adjustment:		\$0.00
							Total Amour	nt:	\$3,014.66
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Lines

5/2018	1,443	2,822	10	4,275	\$5,343.75	\$107.34	\$5,236.41	0.70	\$3,665.49
							Entity Total:		\$3,665.49
							Adjustment:		\$0.00
							Total Amour	nt:	\$3,665.49
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	3,578	4,240	42	7,860	\$9,825.00	\$198.43	\$9,626.57	0.70	\$6,738.60
							Entity Total:		\$6,738.60
							Adjustment:		\$0.00
							Total Amour	nt:	\$6,738.60
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	943	1,442	13	2,398	\$2,997.50	\$62.46	\$2,935.04	0.70	\$2,054.53
							Entity Total:		\$2,054.53
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,054.53
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	2,400	5,168	14	7,582	\$9,477.50	\$191.04	\$9,286.46	0.70	\$6,500.52
							Entity Total:		\$6,500.52
							Adjustment:		\$0.00
							Total Amour	nt:	\$6,500.52
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,968	3,418	14	5,400	\$6,750.00	\$145.14	\$6,604.86	0.70	\$4,623.40
							Entity Total:		\$4,623.40
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,623.40
Haakon									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,103	1,378	5	2,486	\$3,107.50	\$62.21	\$3,045.29	0.70	\$2,131.70
							Entity Total:	:	\$2,131.70
							Adjustment:	:	\$0.00
							Total Amou	nt:	\$2,131.70
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,903	3,601	7	5,511	\$6,888.75	\$138.53	\$6,750.22	0.70	\$4,725.15
							Entity Total:	:	\$4,725.15
							Adjustment	:	\$0.00
							Total Amou	nt:	\$4,725.15
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,246	2,716	13	3,975	\$4,968.75	\$101.78	\$4,866.97	0.70	\$3,406.88
							Entity Total:	:	\$3,406.88
							Adjustment:	:	\$0.00
							Total Amou	nt:	\$3,406.88
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,036	2,875	17	3,928	\$4,910.00	\$100.24	\$4,809.76	0.70	\$3,366.83
							Entity Total:	:	\$3,366.83
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,366.83
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	741	852	1	1,594	\$1,992.50	\$49.95	\$1,942.55	0.70	\$1,359.79
							Entity Total:	:	\$1,359.79
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,359.79

		_	L	
Н	u	a	hes	

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	4,783	14,339	288	19,410	\$24,262.50	\$522.76	\$23,739.74	0.70	\$16,617.82
							Entity Total	:	\$16,617.82
							Adjustment	:	\$0.00
							Total Amou	nt:	\$16,617.82
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	3,371	5,040	41	8,452	\$10,565.00	\$236.37	\$10,328.63	0.70	\$7,230.04
							Entity Total	:	\$7,230.04
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,230.04
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	745	1,050	2	1,797	\$2,246.25	\$45.92	\$2,200.33	0.70	\$1,540.23
							Entity Total	:	\$1,540.23
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,540.23
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	685	800	0	1,485	\$1,856.25	\$37.14	\$1,819.11	0.70	\$1,273.38
							Entity Total	:	\$1,273.38
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,273.38
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	992	1,245	0	2,237	\$2,796.25	\$57.17	\$2,739.08	0.70	\$1,917.36
							Entity Total	:	\$1,917.36
							Adjustment	:	\$0.00

Jones

Concs									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	613	639	6	1,258	\$1,572.50	\$31.50	\$1,541.00	0.70	\$1,078.70
							Entity Tota	l:	\$1,078.70
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$1,078.70
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,444	3,944	40	5,428	\$6,785.00	\$139.48	\$6,645.52	0.70	\$4,651.86
							Entity Total	l:	\$4,651.86
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$4,651.86
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	3,013	9,872	59	12,944	\$16,180.00	\$340.21	\$15,839.79	0.70	\$11,087.85
							Entity Total	l:	\$11,087.85
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$11,087.85
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	8,352	16,201	167	24,720	\$30,900.00	\$636.12	\$30,263.88	0.70	\$21,184.72
							Entity Total	l:	\$21,184.72
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$21,184.72
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	4,521	22,140	1,614	28,275	\$35,343.75	\$805.05	\$34,538.70	0.70	\$24,177.09
							Entity Tota	l:	\$24,177.09

Adjustment:	\$0.00
Total Amount:	\$24 177 00

							Total Amou	nt:	\$24,177.09
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,251	1,777	10	3,038	\$3,797.50	\$85.22	\$3,712.28	0.70	\$2,598.60
							Entity Total	:	\$2,598.60
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,598.60
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,989	2,758	32	4,779	\$5,973.75	\$132.40	\$5,841.35	0.70	\$4,088.95
							Entity Total:	:	\$4,088.95
							Adjustment	:	\$0.00
							Total Amou	nt:	\$4,088.95
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	2,547	4,150	13	6,710	\$8,387.50	\$168.21	\$8,219.29	0.70	\$5,753.50
							Entity Total	:	\$5,753.50
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,753.50
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,101	1,558	1	2,660	\$3,325.00	\$78.40	\$3,246.60	0.70	\$2,272.62
							Entity Total	:	\$2,272.62
							Adjustment	!	\$0.00
							Total Amou	nt:	\$2,272.62
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

5/2018

4,037

16,475

323

20,835

\$26,043.75

\$553.69

\$25,490.06

0.70

\$17,843.04

Entity Total:	\$17,843.04
Adjustment:	\$0.00
Total Amount:	\$17,843.04

							Total Amour	nt:	\$17,843.04
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	635	632	0	1,267	\$1,583.75	\$31.69	\$1,552.06	0.70	\$1,086.44
							Entity Total:		\$1,086.44
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,086.44
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,087	1,596	9	2,692	\$3,365.00	\$67.90	\$3,297.10	0.70	\$2,307.97
							Entity Total:		\$2,307.97
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,307.97
Minnehaha									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	47,039	142,735	2,007	191,781	\$239,726.25	\$5,050.57	\$234,675.68	0.70	\$164,272.98
							Entity Total:		\$164,272.98
							Adjustment:		\$0.00
							Total Amour	nt:	\$164,272.98
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,549	4,512	17	6,078	\$7,597.50	\$178.93	\$7,418.57	0.70	\$5,193.00
							Entity Total:		\$5,193.00
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,193.00
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Percent

Lines

5/2018	27,759	74,662	1,402	103,823	\$129,778.75	\$2,759.65	\$127,019.10	0.70	\$88,913.37
							Entity Total:		\$88,913.37
							Adjustment:	:	\$0.00
							Total Amour	nt:	\$88,913.37
Perkins									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,875	2,308	6	4,189	\$5,236.25	\$114.68	\$5,121.57	0.70	\$3,585.10
							Entity Total:		\$3,585.10
							Adjustment:		\$0.00
							Total Amour	nt:	\$3,585.10
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	1,395	1,751	4	3,150	\$3,937.50	\$79.76	\$3,857.74	0.70	\$2,700.42
							Entity Total:		\$2,700.42
							Adjustment:	:	\$0.00
							Total Amour	nt:	\$2,700.42
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	3,967	4,735	10	8,712	\$10,890.00	\$240.69	\$10,649.31	0.70	\$7,454.52
							Entity Total:		\$7,454.52
							Adjustment:	:	\$0.00
							Total Amour	nt:	\$7,454.52
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	966	1,825	2	2,793	\$3,491.25	\$69.98	\$3,421.27	0.70	\$2,394.89
							Entity Total:		\$2,394.89
							Adjustment:	:	\$0.00
							Total Amour	nt:	\$2,394.89
Spink									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	2,122	4,536	20	6,678	\$8,347.50	\$170.65	\$8,176.85	0.70	\$5,723.80
							Entity Total	:	\$5,723.80
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,723.80
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	783	2,200	12	2,995	\$3,743.75	\$76.74	\$3,667.01	0.70	\$2,566.91
							Entity Total	:	\$2,566.91
							Adjustment	::	\$0.00
							Total Amou	nt:	\$2,566.91
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	804	1,171	1	1,976	\$2,470.00	\$49.42	\$2,420.58	0.70	\$1,694.41
							Entity Total	:	\$1,694.41
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,694.41
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	0	19	1	20	\$25.00	\$0.83	\$24.17	0.70	\$16.92
							Entity Total	:	\$16.92
							Adjustment	:	\$0.00
							Total Amou	nt:	\$16.92
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	2,780	3,849	5	6,634	\$8,292.50	\$166.49	\$8,126.01	0.70	\$5,688.21
							Entity Total	:	\$5,688.21
							Adjustment	:	\$0.00

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	2,476	6,076	14	8,566	\$10,707.50	\$216.29	\$10,491.21	0.70	\$7,343.85
							Entity Total:		\$7,343.85
							Adjustment:		\$0.00
							Total Amoun	ıt:	\$7,343.85
Union									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	3,464	10,519	404	14,387	\$17,983.75	\$435.41	\$17,548.34	0.70	\$12,283.84
							Entity Total:		\$12,283.84
							Adjustment:		\$0.00
							Total Amoun	ıt:	\$12,283.84
Walworth									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	2,343	3,590	70	6,003	\$7,503.75	\$150.88	\$7,352.87	0.70	\$5,147.01
							Entity Total:		\$5,147.01
							Adjustment:		\$0.00
							Total Amoun	ıt:	\$5,147.01
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
5/2018	5,751	15,401	204	21,356	\$26,695.00	\$547.10	\$26,147.90	0.70	\$18,303.53
							Entity Total:		\$18,303.53
							Adjustment:		\$0.00
							Total Amoun	ıt:	\$18,303.53
Totals	237,470	575,585	10,313	823,368	\$ 1,029,210.00	\$ 21,836.81	\$ 1,007,373.19		